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Recap of Previous Lecture

QUESTION OF CAPITAL GAIMS



Topic

Topics to be Covered

Gift .
Ru I13 &4 Homewor
- -



Topic: TAXABILITY OF GirT

GIFT
I

↓ b

Money Kind
I

A to

Movable Property Immovable Prop ,
Y

Any other Kind Gift Beaniees
Lard Building

like car/bike/bus truck ⑧

Rikenawlwa showl &

Jeweler
coms vagera Vagua

0 Sculpture
are Not Considuly As s ⑧ Drawings

H

Gift .
Heu NOT Tonaste

⑧ Pourtings
· Archaeological collector
· Any bork of Art



· Virtual Digital Asset
ecryptos

IA) MONEY GIFT

X Aggregate porcy Gift upto 150000 during by ↑

Y No

is Agg : Gift exceed 50 ,000
Not Taxable to

eq
Mr .x Receive 10 ,000 each Entire Gift Taxable

-

from his 5 frinds or his birthday eq
Mr .x Rece # 10 ,100 each

A vom hisf s frieds or
hisAgg: Gift = 10 1000x5 = 50 ,000
·

birthday
As H

Mof Tonable &

99 . Gift
= 10 ,100x5
=> 50 , 500

Entire 50 ,500 = Taxable



(B) Gift of Proputy other than Immovable Proputy
i to

·lithout considuator Inadequate considuation .
Y A

Aggregate ICA Consideration
↓ Aggregate FR exceed 50000 to

exceed 150000
Yes NO I

t t Yes MO
⑯

toEntre Gift tonasm Fahre 4191 Not Entre Gift Entre Gift
Tonable Tonable MOr ionable

eq following hift Reed - Following Gift Reed - (See Example)
Yes Jeriny FN=20000 /4/23 Twrlny FNV = 20000

119123 Shares FR = 25000 119123 Shares FIV = 25000

11 X-D . A FN = 15000 Aggregate = 45000

Aggregate My = 60 ,000 Not Tonable

Toxable



knample · Mrx Gachany Garneg from his Fring MA
for $500,000 /FNU = 5 ,40 ,000

· Mr .x Also purchaser Sculpture from his fring Mr
for 94 ,00 ,000 /FMU= Fu , 25 ,000s

calculate Gift Tonable

1 IIA coeviduation = 540000-500000 = 40 ,000

2. IIA Conviduation : 425000 - 400000 = 25,000

Aggregate 65000
↓

fully Tonable



eq Brix Recy following Gifts

19) Money Gift= 199: = =25000 ↑T

(b) Movable proputy

(1 wo connid=> Ag. FM = 240,000 NT

I IIA corrid t Agq . Value = 750 ,000 MT

SDV
-

19 Gift of Immovable Property stamp duty value

↓ a

Inadequate Considuator
wo considuation ~

I
· SDY> 110% of considerator

t ~ I
X (SDX-considuahor) >50000

X

s SDX exceed 250 ,000 D j NO
NO D
A

Tonable= SDY- Conside
Tonable MOt Tanable - Moftonable



e. prix Recuvey following Gift or his birday
· lard From Fried Mr . A SDV= 50 ,000 > MT

· land from fring Mrit San = 45000 -> MT

Aggregate
= 9500I

-

/

ef Mr -A purch . Land from Prit for 100 · SDY Of long is Ell
calculate Gift Amount If any

cord I SDv>10% of corsid . ) Not sanfiel-

112 > 110% of Ioh

Cord i2 ISDV-wevid) > 50 ,000
--

Gift Is Not Taxable As SDY is Not exceeding 10% ↑ consid



- w

q ch considuation = 10 .50L

↳ 110% =11 .55L
-
-

414+ Taxable ?

Lord ! SDY>110% of consideration -> yes

Cord2 (SDX-cor. Paul) > 50 ,000 -> Yes .
> >

-

12- 10 ·50L

t

1.504

Gift tonable =P SDY-Conside -
= 121-10 .502

= 1 .502-
-
-



NIr .A

E Dunnue- Port=102- Tonable

- Jewelry -> Manila
Nitra

to

=In Gift Tonable
Fle win os .

car Gift
BK - KarnK Aryar
↳ Individual capacity Gift -> FIV=> DK=> Tonable

=>

FIN cal => K
. A => Not tonable

-> T-sever Gifts 12 keep . Cain-Corvidu Pry fees paul .
-> in Pro for K . Aryan => Taxable



F M Fi
F MF M

2 unvalors .
B/w B/c

F N F N

S14 514

is/w Mr . A > Mrs . M B/w currut ameration
↑

(Assessee) S14
-14 *

5/w D/H 2 Geruation .

sw D14

stw D In



KIND GIFT

I
b ↓

Capital Asset for Repet Otherwise

A H

covery vedu Gift Provinon NOt correl Under
Gift Provision .

larg -> Much . by Mr .A (proputy dealus for 1500000 (SDU =100000
-

- H

No Get Por , Will be attractly for Mr . A , because

for Mr .A larg is sit .
5MIM BREAK



I1- 1
·

Morey Gift
casn Gift or Annirusary (kncee 50000) = 15000

· M .Property Gift
· ko consid . = Bullion /FM Exceed 50000) I 60 1000

· IIA corvid. -

· Imm .Propay
· wo consid . Plot in FBD SDV350 ,000 = 5100 ,000 .

· IIA corrid . SDv-corsid fall 1232-202) I 3 ,00 ,000

Inc. U/4 Os > 9. 35,000
--
-



As Adv . is pau through Specific Mode
SDU As or dat of Agreement shall be

corriduey in 232 .

Condit SDU> 110% coesiduation
-

2x > 110% of 201 -> satisfiel

Crd2 (SDY-coesid .Fav)>50 ,000
-

1232 - 201) = 32-satisfiel
-

Mr .x IKanta of NOF
b
Sister - Membe of Hor of his brother Mr .x .

X .

↳ Arloadin - Mome but member
.



Thank You


